HKDSE Economics 2016 Candidates’ Performance

paper 1

idates’ overall performance was good. The me. i :
cmt :ns y el iy an score of thig Paper is 26 out of 43, The following

Q.15 A decrease in the cost of producing Good X resul

quantity transacted respectively, Which of the follots m a 5% and 10% change in its price and

wing best explains the above changes?
*A. Good X is a durable good.

B.  There are no close substitutes for Good X. {18)

C.  Firms producing Good X have EXCess capacity i : (20%)
g pacity in production. 329
D.  The factors of production for Good X are not easily availab::a. Elf‘y/:;

Q.20 Which of the following statements about monopoly are correct?

(1)  Amonopolist sets the market price.
(2)  Anatural monopoly arises when no firms are permitted to enter the market.
(3)  There are substitutes for the products provided by a monopolist.

A. (1) and (2) only (42‘%)
*B. (1) and (3) only (26 oﬁ)
C.  (2)and(3) only (11 f;)
D. (1),(2)and (3) (21%)

This question is about monopoly. Some candidates did not seem to understand that the mono_poly power
behind a “natural monopoly” lies in the firm’s cost advantage, rather than government reguiau?ns. Othgr
candidates did not realise that although the monopolist is the sole producer of its own good, it may still
face potential competition from other firms producing similar goods.
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Q.24 Study the diagram below.
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The diagram shows that during the period from October 2014 to July 2015,

; 15%
A.  the nominal GDP was f‘:lllﬂg- T &230/‘3
B. th hasing power of money was 1n . :
C. r.h: l;ru;fwm ratgerz)f real GDP was higher than that of nominal GDP. (25;%)
*D.  the nominal interest rate was higher than the realised real interest rate. (37%)

This question tests candidates’ ability to extract relevant information from t_he da.ta/ﬁgure to u:lennfy t;he
correct economic phenomenon. Nearly half of the candidates confused dlsmﬂapon (the case here) with
deflation, hence picking B or C as their answer. To get the correct answer, ca_ndldqtes had _to underst.and
that the difference between the nominal interest rate and the actual (realised) inflation rate is the realised
real interest rate.

Q.33 In a fractional reserve banking system, the actual deposit created is often below the maximum
possible deposit created. The gap between these two amounts will be narrowed when

the popularity of electronic payment increases.

the central bank tightens the restrictions imposed on mortgage loans from banks.
the central bank buys bonds from the public.

the central bank reduces the legal reserve ratio for banks.

SOwp

This item was deleted as it did not effectively assess candidates’ knowledge and understanding. This
question tests simultaneo?sly candidates’ knowledge of the creation of both (i) actual deposits and (ii)
maximum-possible deposits as well as the change in their relation in different cases. Maximum-possible

deposit is calculated under the assumptions of no cash leakage and no excess bank reserves—the
“benchmark”. Many candidates seemed to

ever, overlooked the implicit
es in the bank may be altered by
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According 0 the classical quantity theory of mgq

i 1 ney, i s "
oM when money supply is growing at a constang pmeni’a;h;::h(); et::? following diagrams is correc ;
A Price level (11%) B.
R
A Aea.l Output (16%)
ol b i
Year ﬁ;ear

C mfistionraste  (39%) D,

Inflationrate  (34%)
A

A

0 —> 0 5
Year Year

This question is a test of the classical quantity theory of money (QTM) via graphical representation of
economic data. Many candidates were able to apply the QTM in the given case to deduce that a growing
money supply would result in a rising price level, i.e., a positive rate of inflation. However, quite a
number of candidates did not realise that, under QTM, the price level should be increasing at a constant
rate, meaning that the inflation rate should be constant over time. Some might have mis-read the label of
Y-axis (“Inflation rate™) in option C as “Price level” and thus mis-conceived the upward-sloping straight
line as representing a constant inflation rate. Candidates should be more cautious about the distinction
between price level and inflation rate (i.e., percentage change in price level over time).

Q38 If the government simultaneously increases its expenditure and income tax by the same amount,
the effect on the aggregate output is

A.  contractionary

B.  neutral

C.  expansionary

D. indeterminate
This item was deleted as it did not effectively discriminate between weak and able candidates. This
Question examines the combined effect of an equal increase in government expenditure and income tax
o1 aggregate output. Candidates might have overlooked the possible effect of the tax chan]ga;oon
ageregate supply. In particular, the increase in the income tax may have a disincentive eﬁ‘e:l:t on u;
Supply, which would then lower aggregate supply. Combining the effects on aggregate demand an
“8gregate supply would result in an indeterminate change in aggregate output.
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Paper 2
Section A

——

A o ]
s .cwmtb'.wmdm

Q. number

dcﬁncol?“mt.}wdmcminmk\ﬂ\roﬁ

: ©
Fair. Most candidates managed ; chosen option with |
ﬁ:il“cdtorelat'zitto‘hcg"":."“%M.vnc'?ost.orli!el""“"‘f“s""d.'hc N 'nwwlth;
the new model as a change in MOSR S Sm;mﬁmdidnotmmmﬂ’mf-
the forgone option in tiS 7 S tved i buying the new model, and thus failed o |

netary |

cost and non-mo .

2(a)

2(b)

marks. able to provide good reasons for

2(c)

Satisfactory. A majority of candidates Wwerc |
economies ofscaxlx::.ij Aminorityof(anchdalcs only spelt out some terms (e.g

economies) or phrases (&2 resources ; ; _
clabomﬁngwithmfae::cewdngivmsinndmmthequﬁuonotmthouudmngm
the reduction in average cost.

Excellent. Asmaﬂnmbaofmdidamwxmglyappﬁedthcoonoqﬂsof“ﬁxedcost
/ variable cost / average product”.

Satisfactory. The following are common mistakes: :
fm'hnemstatewhctherﬂleextumlitywasposiﬁveorneganvc;
i fusi s without specifying who got the benefit and who

Satisfactory. Many candidates were aware that the incomplete/slow adjustment of
input prices was the key reason. However, some failed to relate their argument to the
price level and output level in their elaborations: they neither started their argument
from a change in general price level, nor did they reach the conclusion of a change in
output level at the end. A few candidates wrongly used the terms price (rather than
the price level) and quantity supplied (rather than aggregate output) in their
explanation, showing either their confusion of supply-demand model with AS-AD
model or their carelessness.

6(a)

Good. A few candidates wrongly included the underemployed population in their
calculation.

6(b)

Satisfactory. A common mistake was to regard the rise of unemployment benefits—a
transfer payment—as a loss to society.

6(c)

Excellent. A small number of candidates did not read the i
’ ‘ _ question carefully,
included “the fall in unemployment rate” as part of their answers. e

7(a)

Satisfactory. Many candidates compared correctly the mesti i
. costs of produc
ofCounUyAmththetamsofmdemdetumineﬂntyp:o‘:‘ogood(;[ponedugn
Country A. Commonenmsforthosewhofailedtogenhcmswer :
& mlculation of the opportunity cost from the input-requirement data;
- mistakenly comparing the unit i i 1
o Srsimim e c:,osts of producing the two goods directly in

7(b)

Satisfactory. Most candidates were able to show their knowledge about the gain from

trade in the case of positive transportation cost.
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Satisfactory. Most candidates

the fractional reserve system (ie. RRR<1), te the difference between the two to

8(c)(ii)

Satisfactory. Many candidates were able to i
Y- State that credit creation w uld not
when RRR=1, or when banks do not make loans and hold all deposlilts :s res::v:vs.ork

Good. A majority of candidates correctly sh ifti
i g Yy showed the effect of an embargo by shifting

: . me also demonstrated a good kn
drawing the kinked supply curve. How : owlcdgo.of quots, by

; ever, a few of them misunderstood the ke
word “abolish” as meaning introduction of a quo d :
conclusion. Some candidates also e

Section B

Q. number

Performance in General

10(a)

Good. Many candidates stated correctly the market structure of the industry.
However, some candidates wrongly focused on the top 10 manufacturers (whose
market shares were actually rather small) and gave oligopoly as their answer.
Confusing terms such as “monopoly competition”, “monopolistic” and “FRFEB
B7” were found in some of the answers.

10(b)

Good. A minority of candidates wrongly regarded sunlight as capital. Some mis-read
the question and went on to explain the type of factor inputs for producing PV
modules or to explain the type of production of the solar energy industry.

[ 10c)

Good. Most candidates were able to draw the diagram with labels showing the
correct positions of the tariff burdens. However, unclear concepts were revealed in
some candidates’ verbal explanation. Some only stated elastic demand as the
condition, but failed to relate the tariff burden to the difference in the elasticities of
demand and supply. A few candidates mis-used the quel of small open economy
(though partial credits were still given). A minority wrongly discussed the
distribution between consumer and producer surpluses.

11(a)

i isi i ing “whether the $45
Poor. Many candidates misinterpreted the question as meaning er th
should be ixi:luded in the calculation of GDP"—a frequt_:ntly askc?d_ question in past
papers. Some over-emphasised the imported raw materials (medicine) and reached
the wr;)ng conclusion of “less than $45”. Among those who got their stand correct,
only some of them provided a good explanation.

11(v)

kﬂs qmﬁon.

factory. i -labelled diagram for the case
i dates mana edtodmwawelllabe“ ‘

E;ueicws dc'ml:tdn%s,t:;;?l?many wcrcgablc to indicate the position of c.leadwglght loss.
However, only a few of them were able to accuratelgastate tl:l;:ts eﬂ;;n;izi;wncy w;sl

aused by in thi inority of candidates rep: answer
. diagram o W>WMCP%-£?$%H&;$ private cost, which was neither
‘:“l“-if‘=d g(fer the existing curriculum and assessment framework nor applicable to
uny
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Q. number

Performance in General j
xplanation in their own words, but only

11(c)

; ive an € e :
Good. Most candidates were :sh(l:f ff;:::;lising income/opportunity” in their answers,
their understanding of the effects

11(d)

some made use of the concep
i trate
Good. Many candidates were able to dexsox;ui iy i g

of the fec increase on cfficien® F0 11, The following shows a list of mistakes:

; . in this case as We.
eﬂiclen?y-fq:lt:fh:‘:;:f:m oy ired to provide reasons to support the

argument; } 5 5
_  mis-labelling their statement about efficiency under the heading of equity, or
vice versa;

failure to provide an explanation for their stand using economic terms.

12(a)

to identify the trends of the income of the gaming
blu:a f:i?’ed to relate those data to the relative

i ing i ho got the trend correct, only
importance of the gaming industry. Among those W
some gave accurate explanations based on the data. Instead, some others suggested

reasons for the drop in the revenue, such as a reduction in tourist numbers.

Poor. Many candidates were able
industry and the GDP of Macau,

12(0)

i ided a systematic explanation for the effect of the
e i levels with the aid of a well-labelled

cash-sharing scheme on price and output elle
diagram. A minority of candidates mistook a rise in trapsfer payment for a rise in
government consumption expenditure, or an increase in money supply. Others
confused disposable income with taxable income in their answers.

12(c)

Poor. Most candidates were able to either support or opposé th_e economist’s
suggestion in economic terms. However, only some managed to provide a balanced
analysis by including both the pros and the cons. The following problems were
identified:

- presenting argument(s) exclusively for or exclusively against the suggestion;

- failure to compare the extent of change in AD due to the change in investment
with that due to an equal-amount change in transfer payment;
- mistakenly relating investment to a higher profit tax and cash-transfer to a
higher sales tax, and then putting forward arguments in terms of the effects on
the budgetary position of the Macau government.

13(a)

Excellent. Only a minority of candidates mistakenly regarded efficient use of capital

goods and saving training cost as reasons for higher labour productivity.
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Foiats : erformance in Gener al

Fair. Most candidates a‘tten}p‘ted to0 identify the ra—

e dem'?:suf::;dwmﬂ'mgu Zblhty 10 apply economic congept:lseattmoth

this case. e_ o shows a list of mistakes for both parts that d :

- comparing the effects of building anq 8ot bl CServe attention:
th:.m the dfgecg of the two proposals to finance the construction of th,

= mis-rea ] question as meanmg “h ow € "mway,
account” a.t?d “?mw Proposal B affects the aver:g;;;;lt dAisﬁ?etf- the current

- poor organization of answers, without a clear indication as 1o h: i
arguments refers to which proposal. which of their

Part (i):

ount,
For pmposal B, many candidate's did not realise that the expenditure/revenue of the
tourist mdusny was counted as import/export of services and that the rise in the cost
of using the airport wopld adversely affect both foreign visitors and local people
flying to other countries. Some candidates g

NIS : ave confusing answers without
indicating whether they were talking about incoming or outgoing travellers.

Part (ii):

For proposal A, the perfqrmance was fair. Some candidates showed their ability to
apply concepts and theories to an unfamiliar situation. Others only stated their stand
(increase / decrease / no change) without proper reasoning,
For proposal B, the performance was satisfactory. Most candidates could apply the
law of demand to deduce that the average flight distance would increase. Although
many were able to use the concept of relative price, only some of them were able to
give a complete and logically consistent explanation. Common mistakes include:
- inability to state, in words or in formulae, that the same lump-sum fee was
charged on the two types of flights with different flight distances and airfares;
- stating that the relative price of long-distance flights would become lower than
that of short-distance flights;
- failure to understand that the fall in the relative price of long-distance flights
would lead to a rise in the proportion of such flights (relative to short-distance
ones) taken by departing travellers without necessarily increasing their total

quantity.




Section C

14(a)(i)(1)

RN,
14(b)(i)(ii)

14(c)

14(d)(i)(i)

53%

Performance in General

5 A ‘\
andidates were able to indicate correctly the output ang

ain why deadweight loss exists under monopoly
ty of candidates did not use the symbols Q,, ang P,

Good. Most¢
price and expl :
pricing. A minori
as required.
Candidates’
performance in p

T
performance in part (i) was e)'(cellent.. However, the
art (i) was fair, as some mlSCf’nct.elved SN T
shift in the marginal cost (MC) curve as a reduction in marginal cogt
Among those who were able to draw thc.correct MC curves, Sf.Jme
failed to give a proper explanation for the increase in the deadweight

loss.

Good. Most candidates performed well in this question about price
discrimination (PD). Weaker candidates only recited the definition of
PD without relating it to the given case, or simply stated it as an

example of third degree PD.

Satisfactory. In part (i), most candidates could identify the type of
anti-competitive behaviour and correctly stated that it is a horizontal
agreement or that it violates the first conduct rule. Some candidates
did not provide reason(s) for the change in demand /supply in part (ii).

15(a)

15(b)

15(c)(D)(ii)(iii)

15(d)

15(e)(i)(i)

47%

Satisfactory. However, some candidates gave incomplete answers,
such as “resources are heterogeneous” or “products are

heterogeneous”.

Excellent.

Satisfactory. Most candidates were able to indicate the correct
position of P4, but only some actually knew that Country A’s import
and export volumes were represented by the gap between its
production point and consumption point for Good Y and Good X
respectively.

Good. Many candidates gave a good explanation for the unaffected
trade direction. A minority of candidates did not indicate their stand.

Satisfactory. In part (i), most candidates could explain clearly how
brain drain might slow down economic growth via different growth
chan_nels. In part (ii), some candidates misunderstood the key words
f‘bram drain” and “in the light of globalisation”, and thus gave
m'e'levant answers. Candidates were expected to explain how their
policy proposal can offset the reduction in labour productivity or
human capital through interactions with the rest of the world.
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al comments and recommendations

1.

Some candidates lack a thorough understanding

. of basic economic concepts and principles
jally when applying them to solve hypothetical or real-life problems. Candidates shrc’)ulci

strengthen their analytical skills instead of simply regurgitating concepts and theories.

gome candidates do not‘ always read t_h.c questions carefully. Candidates should devote special
attention to the assumptions and conditions laid down in the questions to avoid giving irrelevant
answers.

Some candidates haye difficulty in presenting their answers in a precise way. Candidates should
equip themselves with better language abilities as well as graphical skills.

Some candidates lack awareness of current economic issues in our society. Candidates should pay
more attention to economic news.

Some candidates lack skills to extract information from tables and graphs as well as to draw

well-labelled diagrams. Candidates should pay special attention to the headings, labels and axes
as they are essential to our understanding of the data presented therein.
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